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(€ ifom sm D) wfawfa s
The cheapest source of finance is
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[A) Results {B) Individuals
iCy Goods (D} Manugers
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wiethods of develnpment arc
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1 Development on the job D)~ All of these
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Tramning gives emphasis on

(A) Theoretical knowledge (B) All-round knowledge

(C)  General knowledge (D) Practical knowledge
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(€] wft-wfy D) B

Recruitmnent in the life of organisation is

(A} Once {B) Twice
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'5. Frfafeen 3 & aa-m vl w1 ow a0 R o

(A] R (B)  werafy
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(C] Coopcration, not individualism
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<1 1901 M) 1903
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iA} _ Planned target ol performance
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(D)  Statement of expected results expressed in numencal teoms
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(A)  FOW By FA ot 8
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Planning s the ... of all managenal acuivitics
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) Both [A) and (B) D) None of these
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For effective communic

A} Clanty

(C) Conunuily (D) Allof these
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P
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LR (B) @
(€l qaifusR 3 (D) #nfwrefy =m
Y 1s/are not included in long term finance

A Equity shares iB)  Dividend

) Preference share (D] Long term loan

PR LG Ll S

A R @) wmd

 wE (D) swfra &

Henry Fayol was born in

Ay Japan \@/Frnnce

i€y Germany (D) Amecrica
o Awfye wwa 8 wEw & wE & avel § w6 R

EU (14 3y

1 wrg wwma Tf D) m

in scientific management working hours of workers are

A} Increased \@}/Dccmsed

IC}  No effect (D) Average
¢ @ gm0 F wgen Bdre & gen d

A} 8 B 6

Iy 4 2

According 1o G. R. Terry, types of Planning are

W s B 6
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. aspecl of management

: ion is not the ...
Direction (B) Theoretical

(A) Practical |

{C] Inter personal (D} Posiave

AvAa §2vATEA § jWiE &1 99IE gran 2

SR ®) H & 3n
D) TH /A

(C} ®Oda ATW

In honzontal communication flow of suggestion is

(A) Upward (B) Downward
(C) At parallel (D) All of these
w2
. bl (Bl frerea srfingeh
) = -

_ e (D) =@ ;mff
Direction is
(A)  Pervasive

(B)  Perr, .

(C) - Conunuous aclivity M[lr T’rr:ancc-oncnud
(Al WAy
(C)  3min B) v

(A)  Negayy, fewarded
€ Intring \@V’Punnivc
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A T B) ¥fem

¢ T (D) fafa

control 18 the .. function of the management
Al First (B) Last

) Third (D) Second

b WA HTd R

A e (B) IA9¥HES

c) e (D) v a &g I

Control is a managerial function

Mcccssary

(C} Optional (D) None of these
fram savas R
) g 3TN & fere

iA) Compulsory

(B) Www WTHR A IGFA & fer
(€) W men ard IR & fo
D) v amh

Controlling is necessary

(A)  for small enterprisc
(B) for medium sized enterprise

(C) for large sized enterprisc
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(A A yEEd
) wwA
iy
) v @ e o
The expeniments do

(Al Motion study

{B) Faugue study and ume study

UG -Mollon study, fatiguc study and time study

D) Nonc of these

fwfys weu d sfawl &)

(A] o e R B) wf w2
(C) 1§ wwra I8 (D) ¥ | +1§ I8
By scienufic management workers are

WAL —Benefitied (B) Suffered loss
(C) Not effected (D) None of these
vt sorEa
(A]  Amfrs

) (B) w3 wftg=m
iICy e
(D)  I=mET whvem
Henry Fayol way & / an
Al Scentast \.LBI/’
) Accountan . Mining Engincer
e i § : (D) Production Engineer
A} rfnsfre
(C)  wvdifne () T
- o D) =y
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PﬂI.,ciph'::wi of management are 21,

A Dynamic \(BIX Flexible
) Universal DAl of these
yarfr® TOU H Rrvdtem @
a)  25% B)  30%
¢ S0% (D) 75%
lnal}'sis/p'l scientific management is
A) ~25% (B)  30%
o 50% D) 75%
|, o e R A R
(Al qHH (B) FHEh
C) o EEA (D) ¥4 | F¢ I
ubecralisation policy in India has been
Mucccssﬁ.ﬂ B} Unsuccessful
iC) Totally failure (D) Nonc of these
§ 5o T A fR-d sy e i e ik o
) wffraan (B) =
IC) WS (D) feemm

Which of the following is not the characteristic of business
environment ?

W Uncertainty (B)] Employees

) Relativity (D) Complexity
P s dren e f

W wteh B) wwa A weh

i€} =R (D) N

A good plan is

A _Expeasjve (B) Time consuming

ll\gmcxiblc | (D) Rigid -
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61.

63

iA) =l (D) Hﬁ g aft
c) B ... period.
fora ... -
A budge!t i8 prepared 0 () Short
(Al Lor;g . (D) Al of these
Deflinit
%ﬁrﬂwﬁm-méﬁmmﬁﬁﬁmm#n
A BT (B) :
- (D) fagra=
i) T A

Thinking beforc doing anything’ — under which fung,

management is this performed ?

{A) Controlling (B) Directing
iIC) Organising (D) Planning
wurell BEra & sman §
Ay @ (B) =ragfar
(Cy  wiewm (D) ¥ ¥ off
Lriteria of effective planning are
f,-'H.; Fl('xibihl}' [B] Pra \ [')f .
(o Futunty ' R

AD)L-"All of these
Izfes wray @
(A} Iy w]
€ (A) 3 B st

) 3R (B) Tt D) 3
Responsibility (g of wr¢
(A) Subordinate
(B)  Officer

(<) Both (A) and ()
““’""‘"‘?ﬂmmm t”““*l:ifthcsc

) W wrd |
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Authority cannot be delegated of

217
(Al Rouline work (B) Necessany, work
<) Ordinary work (D) Easy work
4 FZFm | Al ®ia R
PO L RO T w—
B) Frolr R & sfvwnd w e s
(C) YMTT &1 M &3 w&
D) T8 I v wrEanHt w @ern
Cenuralisation refers to
(A}  Retention of decision making authority
{B) Dispersal of dccision making authority
([C} Crecaling divisions as profit centres
(D) Opening new centres or brnaches
e AEE WU Wee ® affea R
A) Wl (B) A
() winm (D) & §oft
Human Resource Management includes
iA)  Recruiting (B) Selection
(C) Training {DL—All of thesc
60 P 2
A}  ETE3 W WM (R) @l yoa w H
€) v & ® (D} ¥H A wA
Stafling is
(A)  Part of organisation
(B] Function of personncl management
(C} Function of management
\(D}— All of these
Y wiwge € gzfr T8 R
W wnl weeh wfme (B) v T
O wimgen wfimew (D) A=
24 A/ X11-5011-38/40 Page 19 / 32
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Method of training :rmnmg (B) Un-uie-job u-a,mng
auion
(A) Job rotatio . | ining (D] None of these
‘CI Appftnucc’
A t
w e o) A A
. related with
The sia_ﬂ'mg I: (B) Goods
iy}
Jay~ Perso (D) Machines
() Tools
e § @ -w i &1 AE T R 2
W AR (B) HETEHI & HEt Ivgm
© iz & 3R (D) =9 ERTAT ¥ &=

Which of the following is not important in training ?

{A] Increase in production (B) Proper utilisation of resg.
f{C} Increase in accidénts (D) Decrease in labour [:n:t::'
g

A)  ¥WeErs (B)

FHATIH_H

c .

© TR D) i A W 7@
Supervision is

AL Necessary B

€ Wastage of ime . Unnecessary
&mwﬁwﬁ : ;} None of these

(A) w m TR “_-n (B

i) ‘Almlﬁlﬁ } mwmm
M D

{a:mr:l “PProach of financig| P W wrf

o 0 "lln,.m
S B TTmeny of fund 5 ent is
——— _‘h A) ang (8 ®) U‘ﬂiut_ion of funds

- . (D
Tatne™ None of these

A/X1)-
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e fae frarm &1 fadrard #

A ]l (3 AwEm

o foeafam (D) A mh
Charactenstcs of sound financial planning are
Al Simphcity (B) Liquidity
C| Economicality DP#"All of these
oryq § weR TFA Thu faufl & wrEn xt ot

(A feeft # (B) ®A ?

¢y st A (D) N

e foremost stock exchange in the world was established in

A} Dethi \_Ll;}}/iondon
Mncnca (D) Japan

3 w0 W g Ao o

w fed (B) ®Ierwman A

c) =% H L) e

Regional office of SEBI 1s situated in

Al  Declhs (B) Kolkata

iC) Chennay Ml of these
75w stwarfet e e d L iftrwr @ R4

A) AR ®W B) wlz®

€ fasft w D) W=

Equity sharcholders get the rights in the company for

A)  Vate (B) Purchase

C)  Sell (D) None of these
S —
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E rfafaad Fd an & ?

— QTR FET . B 2019
Ay 2018 (o) ¥ 8 A
(C) 2020 _ protection Act come into cffect 3
When did Consume (B) 2019
A 2018 (D) None of these
(C) 2020

-7 v & i & _
A wud weeeh 3w (B) W8 @ VS famwa i
o sl &smam (D) ¥ a =f
Responsibilities of consumer are
(A) Do not make hurry in buying
(B) Bceware of {alse and misleading advcrusement
(C) Awarencss towards rights
(DAl of these

78 Juftm fawm Fdwe TR F R
(A) Sl (B) T
€ w=rh (D) WerNER
e e o
(C}] Dishonesty o zmpluymcm

79  TOaw sfawn orruption
(A) 15w N s ¥
© 15 xemi B 15 .

D) 15 wafh
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3 118 Consume
wne! “F Right
¥ ['r‘]hl”‘_

u iath March e
. (B ]
- MMhoa,
. 15th July o
1 {l}I 1 ."'I'l'b] Y
- - T
i FET Ahafaam L L Y — S —
e s | ’
\ B3
Bl = iy,
- fa=n s (D) %38 3§ mp
s-dressal Agencies under the Consumer Protection A
+ Tl At are
s Nauonal commission (B)  State commission
©1 Dastrict forum (D) All of these
RVl IUET T & fom smefam ® vy B wf s 2
y e (B) W=E-iw
FHTEA (D} S

‘or delegation of authonity to be effective. it 5 essental tha

wsponsibility 1s accompanied with necessary

4 Authority (B) Man power
Incentive (D) Promotion

STt ) S s fnf @

Y shoarhes w5 ) s w3

Y i @ (p) fawmire ®m3

loyeTs
depends on the willingncss of emp

1 3 Functiona O rganisalion
Formal organisation (8] .
] ) Dlh’lﬁ:ul‘ld: orgarnissd on
- 'nformal organisation { "
. 501 1 38/4% w1
I 24;’&1?5!!_-_’_1“_LJ__J
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_ ‘ ',I:ﬂ H
83 wnaa gfea & (B)

Al 2 (D)

“:l L) c
I ar
The (‘mun::uu:un;v.. sieps

(B)
Ay 2 (D)
<1 o
4. wiwfet & sfw }
R (B)
© s o)
Employees’ training is
YA}—"Necessary (B)
{C} Compulsory D)
85 wiwew @ fufu, fafoad 2/#
(A} ®E weeh iy (B)
(C) whwgm sfmgy (D}
Mcthod(s) of training is/are
(A} Job rotation lraining (B8)

FAATE
o3 ) wwd

Unncccssary

Wastage of moncey

T @ wfirgy
FE 8 afi
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+u A& fam 5,

o TR R '™ Trey y
4!‘]1’“18 IS “n acuv“}. of D) h‘h -

' T

n Personnel Dcpanm':_m 5,

O Marketing Dcpﬂﬁrncm '[[)] T’rnducunn Deps,

42 ¥4 H2VETES @ I p— :lnnnt'inl D‘Plrtn:tn

@ T =Ry AN v .

3m e & 3]
. B) st
! (D) 398 A 3§ 24
fyou want to keep a proof of vour
comm -

.......... communication. Hitication, you should g
i Informal (B]  Formal

¢ Verbal (D) None of thess
=3 *-\ " ufEsar &1 ae 34 2 o

4 fewifen (B)  mom

¢ gmaEm (D} H2&7 STR®AT

Yuch of the following is not an element of commumcation
“ncess ?

’q/D‘-“-‘Oding (8) Communication

) Channel (D) Receiver

o wm % Faaton @ TR €A RO

| e () =

¥ p) ¥ A

‘n%uo" media should be determined o the basis of

A Gmup (B) personal

I Py~ Allof these B
[Sa A XI1-5011-@324% !
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lji

Q2

!“i

vty 4 @t v w0 R

Al g wa el & fere

B} ua3 wa w0 i e

€)M st ¥ yram & fore

D weia wa A &

Why 1s working capital necessary ?
(A} To buy land

B)  To buy building

US"To make payment for routine expenses

D To buy machine

Al Det
“MMination of financig; Object
" Ives
Deterrnmauon o fnancial pol;
. ) ICiey
m
Natign fi ancig]
I Ap of the o durcs

W f..w
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£

1'4-0

2wl dividends

(B) Pay higher dividends

(C)
(D) None of these

ﬁ?ﬂum%qmmg
(W) ot frairas (B)  #Mi #) umm w5
(C) 912 ™ ¥ el (D) ¥ & mf

Main function(s) of financial management is/are

(A)  Financial planning (B)  Procurement of funds

(C)  Allocation of net profits (D)  All of these

faefta s 1 v framun &) = B ut

(A)  1910-1920%F 3@ (B) 1920 - 1930 % A

(C) 1930-1940F W (D) 1940 - 1950 % 2T
Traditional approach of financial management was discarded

during nttps://www.bsebstudy.com

(A) 1910 - 1920 (B) 1920 - 1930

(C) 1930 - 1940 (D) 1940 - 1950

dae fopan weafagl w amarf@a R 2

(A) 30 (B) 50

€) 75 (D) 100

Sensex is dependent on how many companies ?
w30 (B) 50

C) 75 (D) 100

e syawen faofg feaa qafea & 2

At gt @) fafi "‘"

O e o) fafa Fa _

S~— Page 27 / 32
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Q8

|';’.l7|

Financing decision is related to
cturc

(A) Capital structure (B) Financ inl strv

(C) Capitalisation (D) Financial Pl“"mng

wd 2004 ¥ wrn # e fafvat @ won o

(A) 20 By 21

() 23 () 24

The number of stock exchanges in 2004 waa

Ay 20 B 21

) 23 (D) 24

a@m W Fate s R

(A) WA WAR (B) @Ml AR

) wafis R (D) T TSR

...... CTCAtes liquidity.

(A) Organised market (B) Unorganised market

(C) Primary market (D) Secondary market
100. i Prifivy st & swaEr won R

(A} v wAm

B rufirs I

(€ Mo wram a wrfie wEm A

oy wiawtad

New issued shares are dealt in

(A) Secondary market

(B) Primary market

(C) Both Secondary and Primary markets
(D) Nonc of these

24 /A/X11-501 1 -138/40)

Page 28 / 32

¥

https://www.bsebstudy.com



Y I - @ / BECTION - B
I
o 1 ‘s "7 / Short Anawer Type Questions
0% .
: g Iweta 1 g A/ A 15 oAt & 397 1 v
IWﬁﬂfﬁH#; +

N ] 15§ 2 =30
381 os. 11 S .

ston _ n- 30 are Short Answer Type Answer any 15 questi
1quesrton cames 2 marks Y 1D questions

draA FR 2
what 18 fianning ?
,:%':i?ﬁ fraTas 1 N R R 2
W/hat is the criternion of cffective planning ?
-"@mﬁmﬁm-mﬁémniﬁm?
what should be the characteristics of an ideal organisation ?
agfama T AR ?
What is meant by labelling ?
fag gaUa &1 H;I Aed 2 ? 2
what 1s meant bs’ sales promotion ?
<quire 35 & FHwE

15 « D 10

Explain consumer product.
g v fn R AT 7 gagrd!

‘Management is an activity. Explain i bricl.

=g & fasrand wwwrEel
dination

Explain the characteristics of co-or 5
). Qmﬁmmﬁqﬁqnfaﬁqﬂaﬁ?ﬁm*?

t bring about ¢

omplcte mental

How docs scienufic managemen

change ?
10, st ) s # e #ifav

{ mmwuliun

i'-lgé 2G /32

the process ©

Explain
24,51')(“'@__1__1;‘3‘_“0’ |
N
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Epnumerate any (wo fes

wdays & *1d KA

i?h-

12
sOr.
State the funcuons of a super!
Caikid
L
13 3qwren woem fufm & wré
umer Protcction Act.
State any four l'cdturc“ of Cons
14, fmfatmmnﬁmwamﬁ ?
2
What is ECO Mark Scheme and Redressal forum
15 ot s aifan 3w £ wEsl
‘Entreprencur lakes common risks.” Explain.
16.  %ar@ & vy & fagm fafal
Write Fayol's principles of management.
17.  AveteTor 1 Y WA
Explain the meaning of globalization.
18, wfsAfaFFR IR ?
What do you mcan by econamic palicy ?
19 AeTmErw wE R
What 1s the meaning of capilal marke| ?
20. fadm wam & f&f am =1 avil Ay
Describe any four functions of financial mark
21, # % guaTws w1 ¥ et
Mention the protective funclons of SEB]
22. ¥ 7o RbAw § s wang, ‘
Distinguish between Centralisation and p
23 uff sMama d |1 R f¢entralisation.
What :
__ha 18 the difference between Recruiq

S
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'

B

gt % fefl am =mit &1 337 ifarg

State any four bencfits of training. -

mftgs va fBHfaa aen § s $ifam

Distinguish between oral and written communication
ez Foom & 2 IATECT 2|

State two examples of non-monelary incentives.

s ven ¥ fraan & o qan .

P

State the importance of controlling in an organisation.

wf 4t & wi§ A7 fvreand ) ,
State any three characteristics of fixed capital.

sfaufa @ 1 JHHEC) 2
Explain retained profit.

‘{T'ﬁ REm TR ? ' 2

What is capital gearing ?

it 39T W / Long Answer Type Questions

mﬁmn'&aaﬁéﬁﬁﬂmilﬂﬁﬂfwﬁ4mﬁtmi|m#

fg 8 s frgifa 4x5=20
Questionn Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.

Each quesnon carries 5 marks. 45=20

31, TOUTER HYAW % greE &1 9o R 3
Discuss the importance of consumer protection.

32, fagvm wwew & fawer’ 6 yiftre @) 5
Expla:in the role of ‘Advertising’ in marketing management.

33. @y fageft w=n R 2 ¥EE Wl # 0 K 5
What is stock exchange ? Discuss its functions. .

34,  wmt 4ot v e ot & s R 5
Differentiate between fixed capital and working capital.

24 /A/XI1-501 1-(38740 T Page 31 / 32
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36

KE.

g faam 5 = whwTa R?
What 1s meant by budgelary co
vay & fafws wrd qamge)

State various funcuons of Mmanag

.meum@mg,'-wmmmh?m%ﬁm

ment,” Write your views op

ntroi 7

emenl

"Adminmistration s a part of manage

statemont

SARTTAF Frarew =491 R 2 mﬁﬁﬂmﬁﬂﬂﬂ?ﬁhﬂl

What is Business Environment ? Explain its charactensucs.
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